1. By using standard algorithm (long-division), divide 156 + 12
A 12
B. 13



You are right! Go to next.



You are wrong! Try again.



2. By using standard algorithm (long-division), divide 165 + 15
A 11
B.
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You are right! Go to next.



You are wrong! Try again.



3. By using standard algorithm (long-division), divide 168 + 14
A 12
B. 11



You are right! Go to next.



You are wrong! Try again.



4. By using standard algorithm (long-division), divide 264 + 12
A 23
B. 22



You are right! Go to next.



You are wrong! Try again.



5. By using standard algorithm (long-division), divide 204 + 17
A 12
B. 13



You are right!



You are wrong! Try again.



